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6.2 Angles in Standard Position in All

uadrants: Part
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In the previous section, we found that the trigonometric ratios of an angle in

standard position in Quadrant | were related to the coordinates of a point on the
1evminal Ay

other Quadrants as well.

Quadrant|

%0

Quadrant Ill

sing= -4 (ntg)
v

050X (ney

Y

Y
,\j f
N"Y\’\]\

HQne==y .y

¥ A

-, ‘ﬂuadr}ant I

of the angle. These relationships can be extended to
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We can generalize which trigonometric ratios are positive in which quadrants by just
looking at the positives and negatives from above.
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We use the term

CAST  tohelpus
remember which
trigonometric ratios are
positive in which
quadrants.
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Pre-Calculus 11

Example #1: The point P(—3, 2)is on the terminal arm of the angle 6. Draw 6 in standard
position, determine the exact value of the primary trigonometric ratios, and then determine

the value of 8 to the nearest degree.
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Example #2: Determine the exact values for all the trigonometric ratios for the standard
position angle 8 =120°.
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Steps
1- Draw the angle in standard position.
2- Determine the reference angle.
3- Draw the appropriate exact value
triangle making sure to label sides as
either positive or negative.
Pick off the desired trigonometric
ratios.
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We can use the above definitions for the each of the three trigonometric ratios to determine
what the values are for angles that are on the cardinal directions (ie: 0°, 90°, 180°, 270°, 360°)
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